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                M.M:[image: image4.png]80marks




Section – A

1. The number [image: image6.png]1.101001000100001 ...




 is:
(a) [image: image8.png]a natural number







(b) [image: image10.png]a whole number




(c) [image: image12.png]a rational numbe



r



(d) [image: image14.png]an irrational number




2. Given polynomial [image: image16.png]p(t)




 then [image: image18.png]p(—1)



 is:
(a) [image: image20.png]








(b)[image: image22.png]



(c) [image: image289.png][image: image24.png]








(d) [image: image26.png]



3. In the given fig., if the angles [image: image28.png]


& [image: image30.png]


 are in the ratio [image: image32.png]


, then angle [image: image34.png]


 is:

        [image: image36.png]


   a
(a) [image: image38.png]Obtuse angle







(b) [image: image40.png]





           c
(b) [image: image42.png]126°



 




(d) [image: image44.png]90°




4. In the given fig., the measure of [image: image46.png]LABC



is:

     A
(a) [image: image48.png]60°









(b) [image: image50.png]30°





        D
(c) [image: image52.png]45°









(d) [image: image54.png]90°




      B

        C
5. In a quadrilateral three angles are in the ratio [image: image56.png]


 & one of the angles is [image: image58.png]80°



, then other angles are:
(a) [image: image60.png]1207,120%, 40°







(b) [image: image62.png]1007,100°, 80°




(c) [image: image64.png]110%,110°, 60°




6. Given [image: image66.png]ar(ll gm ABCD) = 25cm*



 & [image: image68.png]ar(ABCD)




, then value of [image: image70.png]


 is:
(a) [image: image72.png]25cm’








(b) [image: image74.png]12.5¢m?




(c) [image: image76.png]12.5cm














     C
        D
7. In the given fig., [image: image78.png]


, then the four points [image: image80.png]AB,C,D




(a) [image: image82.png]are cyclic








(b) [image: image84.png]lie on the same circle




(c) [image: image86.png]are collinear







(d) [image: image88.png]ABD & ABC lieon the dif ferent circles.



  A
            B
8. [image: image90.png](16)



3/4 is equal to:
(a) [image: image92.png]








(b) [image: image94.png]



(c) [image: image96.png]








(d) [image: image98.png]16




9. Median of the data [image: image100.png]32,15,27,8,15,12,9



is:
(a) [image: image102.png]








(b) [image: image104.png]21




(c) [image: image106.png]12








  
(d) [image: image108.png]15




10. The value of [image: image110.png]


, if [image: image112.png](x—2)



 is a factor of the polynomial [image: image114.png]p(x) = kx® —42x + 1




(a) [image: image116.png]2v2-1









(b) [image: image118.png]



(c) [image: image120.png]







(d) [image: image122.png]



11. Given a [image: image124.png]AABC



, right angle at B. Side [image: image126.png]


 & side [image: image128.png]


. D is mid-point of AC, then length of BD is:
(a) [image: image130.png]10cm








(b) [image: image132.png]



(c) [image: image134.png]







(d) [image: image136.png]



12. The volume of a sphere is [image: image138.png]905 - cm’



 . then twice its diameter is:
(a) [image: image140.png]24cm








(b) [image: image142.png]12cm




(c) [image: image144.png]36cm








(d) [image: image146.png]6cm




Section – B

13. Find the value of [image: image148.png]


 & [image: image150.png]


 in the following:
(i) [image: image152.png]



14. Show that [image: image154.png]


 is a zero of the polynomial.
15. If the circles are drawn taking two sides of a triangle as diameters, prove that the point of intersection of these circles lie on the third side.





   P
16. In fig., [image: image156.png]PR > PQ &PS



 bisects [image: image158.png]LQPR



 Prove that [image: image160.png]£PSR > LPSQ



.          Q
       S      R
17. The diameter of a roller is [image: image162.png]


 & its length is [image: image164.png]120cm



. It takes [image: image166.png]500



 complete revolution to move once over to level a playground. Find the area of the playground in [image: image168.png]



18. Te following observation have been arranged in ascending order. If the median of the data is [image: image170.png]63



, find the value of [image: image172.png]


           [image: image174.png]29,32,48,50,x,x +2,72,78,84,95




Section – C
19. Represent [image: image176.png]


 on the number line.
20. Factorize: [image: image178.png]—x+2




21. A patient in a hospital is given soup daily in a cylindrical bowl of diameter [image: image180.png]


. If the bowl is filled with soup to a height of [image: image182.png]


, How much soup the hospital has to prepare daily to serve [image: image184.png]250



 patients?
22. Prove that the sum of the angles of a triangle is [image: image186.png]180°



.


  A
23. In an isosceles triangle ABC 

with [image: image188.png]


 D & E are points on BC 

such that [image: image190.png]BE = CD(infig)



. Show [image: image192.png]





 B       D            E
    C
24. If the diagonals of a parallelogram are equal, then show that it is a rectangle.                A                   B
25. In fig., [image: image194.png]ar(DRC) = ar(DPC)



 & [image: image196.png]ar(BDP) = ar(ARC)



. 
Show that both the quadrilateral 





    D

      C

ABCD & DCPR are trapezium.

26. Verify [image: image198.png]=) (x*+xy
Xy +y




 .
             R

            P

27. ABCD is a trapezium in which [image: image200.png]AB | DC,BD



 is a diagonal & 

D
  C
            
E is the mid-point of AD. A line is drawn through E parallel to AB
            E                             F
intersecting BC at F[image: image202.png](infig)



. Show that F is the mid-point of BC.
          A

       B
28. In a mathematics test given to [image: image204.png]15



 students, the following marks [image: image206.png](out of 100)



are recorded:
[image: image208.png]60,52,41,39,48,52,46, 62, 54,40, 96,52,98,40,42



 Find the mean.
29. What length of trapezium [image: image210.png]3m



 wide will be required to make conical tent of height [image: image212.png]8m



 & base radius [image: image214.png]


? Assume that the extra length of material that will be required for stitching margins & wastage in cutting is [image: image216.png]approx.20cm (m = 3.14).




Section – D

30. [image: image218.png]AABC& ADBC



 are two isosceles triangles on the same base

            A
BC & vertices A & D are on the same side of BC [image: image220.png](infig)



. 

If AD is extended to intersect BC at P. Show that:
(i) [image: image222.png]



(ii) [image: image224.png]AABP = AACP




(iii) [image: image226.png]AP bisects LAaswellas £D




(iv) [image: image228.png]AP is the perpendicular bisector of BC





       B

P
        C
31. In Fig., AB is a diameter of the circle, CD is a 


     C E  D
chord equal to the radius of the circle. 





AC & BD when extended intersect at a point E. 
          A


 B
Prove that [image: image230.png]



32. A dome of a building is in the form of a hemisphere. From inside, it was white washed at the cost of [image: image232.png]Rs 498.96



. If the cost of white washing is [image: image234.png]Rs 2.00 per m*



. Find the:
(i) Inside surface area of the dome.
(ii) Volume of air inside the dome.

33. Draw a frequency polygon for the following data:
	[image: image235.png]C.I




	[image: image237.png]


-[image: image239.png]10




	[image: image241.png]10



-[image: image243.png]20




	[image: image245.png]20



-[image: image247.png]30




	[image: image249.png]30



-[image: image251.png]40




	[image: image253.png]40



-[image: image255.png]50




	[image: image257.png]50



-[image: image259.png]60




	[image: image261.png]60



-[image: image263.png]70




	[image: image265.png]70



-[image: image267.png]80




	[image: image269.png]80



-[image: image271.png]90




	[image: image273.png]90



-[image: image275.png]100




	[image: image276.png]Total





	[image: image277.png]



	[image: image278.png]



	[image: image279.png]10




	[image: image280.png]



	[image: image281.png]



	[image: image282.png]



	[image: image283.png]



	[image: image284.png]



	[image: image285.png]



	[image: image286.png]



	[image: image287.png]



	[image: image288.png]51
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